Chapter 14 Capital Structure and Financial Ratios

Answer 1

(a)
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[6 – 7 marks]
Achievement of corporate objectives

1.
JJG Co has shareholder wealth maximisation as an objective. The wealth of shareholders is increased by dividends received and capital gains on shares owned. Total shareholder return compares the sum of the dividend received and the capital gain with the opening share price.
2.
The shareholders of JJG Co had a return of 58% in 2008, compared with a return predicted by the capital asset pricing model of 14%. The lowest return shareholders have received was 21% and the highest return was 82%. On this basis, the shareholders of the company have experienced a significant increase in wealth.
3.
It is debatable whether this has been as a result of the actions of the company, however. Share prices may increase irrespective of the actions and decisions of managers, or even despite them. In fact, looking at the dividend per share history of the company, there was one year (2006) where dividends were constant, even though earnings per share increased. It is also difficult to know when wealth has been maximised.

[2 – 3 marks]
4.
Another objective of the company was to achieve a continuous increase in earnings per share. Analysis shows that earnings per share increased every year, with an average increase of 14·9%. This objective appears to have been achieved.

[2 – 3 marks]
Comment on financial performance

5.
Return on capital employed (ROCE) has been growing towards the sector average of 25% on a year-by-year basis from 22% in 2005. This steady growth in the primary accounting ratio can be contrasted with irregular growth in turnover, the reasons for which are unknown.
6.
Return on shareholders’ funds has been consistently higher than the average for the sector. This may be due more to the capital structure of JJG Co than to good performance by the company, however, in the sense that shareholders’ funds are smaller on a book value basis than the long-term debt capital. In every previous year but 2008 the gearing of the company was higher than the sector average.

[1 – 2 marks]
(b)
Calculation of theoretical ex rights per share

Current share price = $8·64 per share

Current number of shares = 5·5 million shares

Finance to be raised = $15m

Rights issue price = $7·50 per share

Number of shares issued = 15m/7·50 = 2 million shares

Theoretical ex rights price per share = ((5·5m x 8·64) + (2m x 7·50))/7·5m = $8·34 per share

The share price would fall from $8·64 to $8·34 per share

However, there would be no effect on shareholder wealth

[2 – 3 marks]
Effect of rights issue on earnings per share

Current EPS = 100 cents per share

Revised EPS = 100 x 5·5m/7·5m = 73 cents per share

The EPS would fall from 100 cents per share to 73 cents per share

However, as mentioned earlier, there would be no effect on shareholder wealth

[2 – 3 marks]
Effect of rights issue on the debt/equity ratio

Current debt/equity ratio = 100 x 20/47·5 = 42%

Revised market value of equity = 7·5m x 8·34 = $62·55 million

Revised debt/equity ratio = 100 x 20/62·55 = 32%

The debt/equity ratio would fall from 42% to 32%, which is well below the sector average value and would signal a reduction in financial risk

[1 – 2 marks]
(c)

The current debt/equity ratio of JJG Co is 42% (20/47·5). Although this is less than the sector average value of 50%, it is more useful from a financial risk perspective to look at the extent to which interest payments are covered by profits.
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1.
The interest on the bond issue is $1·6 million (8% of $20m), giving an interest coverage ratio of 6·1 times. If JJG Co has overdraft finance, the interest coverage ratio will be lower than this, but there is insufficient information to determine if an overdraft exists. The interest coverage ratio is not only below the sector average, it is also low enough to be a cause for concern. While the ratio shows an upward trend over the period under consideration, it still indicates that an issue of further debt would be unwise.

[1 – 2 marks]
2.
A placing, or any issue of new shares such as a rights issue or a public offer, would decrease gearing. If the expansion of business results in an increase in profit before interest and tax, the interest coverage ratio will increase and financial risk will fall. Given the current financial position of JJG Co, a decrease in financial risk is certainly preferable to an increase.
3.
A placing will dilute ownership and control, providing the new equity issue is taken up by new institutional shareholders, while a rights issue will not dilute ownership and control, providing existing shareholders take up their rights.


[2 – 3 marks]
4.
A bond issue does not have ownership and control implications, although restrictive or negative covenants in bond issue documents can limit the actions of a company and its managers.
All three financing choices are long-term sources of finance and so are appropriate for a long-term investment such as the proposed expansion of existing business.
5.
Equity issues such as a placing and a rights issue do not require security. No information is provided on the non-current assets of JJG Co, but it is likely that the existing bond issue is secured. If a new bond issue was being considered, JJG Co would need to consider whether it had sufficient non-current assets to offer as security, although it is likely that new non-current assets would be bought as part of the business expansion.


[2 – 3 marks]
ACCA Marking Scheme
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Answer 2

(a)

Calculation of weighted average cost of capital (WACC)

Market values

Market value of equity = 5m x 4.50 = $22.5 million

Market value of preference shares = 2.5m x .0762 = $1.905 million

Market value of 10% loan notes = 5m x (105/100) = $5.25 million

Total market value = 22.5m + 1.905m + 5.25m = $29.655 million [2 marks]
Cost of equity using dividend growth model = [(35 x 1.04)/ 450] + 0.04 = 12.08% [2 marks]
Cost of preference shares = 100 x 9/ 76.2 = 11.81% [1 mark]
Annual after-tax interest payment = 10 x 0.7 = $7
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Using interpolation, after-tax cost of loan notes = 5 + [(5 x 7.94)/(7.94 + 20.96)] = 6.37%

[2 marks]
WACC = [(12.08 x 22.5) + (11.81 x 1.905) + (6.37 x 5.25)]/ 29.655 = 11.05%
[2 marks]
(b)

1.
Droxfol Co has long-term finance provided by ordinary shares, preference shares and loan notes. The rate of return required by each source of finance depends on its risk from an investor point of view, with equity (ordinary shares) being seen as the most risky and debt (in this case loan notes) seen as the least risky. Ignoring taxation, the weighted average cost of capital (WACC) would therefore be expected to decrease as equity is replaced by debt, since debt is cheaper than equity, i.e. the cost of debt is less than the cost of equity.
[1 mark]
2.
However, financial risk increases as equity is replaced by debt and so the cost of equity will increase as a company gears up, offsetting the effect of cheaper debt. At low and moderate levels of gearing, the before-tax cost of debt will be constant, but it will increase at high levels of gearing due to the possibility of bankruptcy. At high levels of gearing, the cost of equity will increase to reflect bankruptcy risk in addition to financial risk.

3.
In the traditional view of capital structure, ordinary shareholders are relatively indifferent to the addition of small amounts of debt in terms of increasing financial risk and so the WACC falls as a company gears up.
4.
As gearing up continues, the cost of equity increases to include a financial risk premium and the WACC reaches a minimum value. Beyond this minimum point, the WACC increases due to the effect of increasing financial risk on the cost of equity and, at higher levels of gearing, due to the effect of increasing bankruptcy risk on both the cost of equity and the cost of debt. On this traditional view, therefore, Droxfol Co can gear up using debt and reduce its WACC to a minimum, at which point its market value (the present value of future corporate cash flows) will be maximised.

5.
In contrast to the traditional view, continuing to ignore taxation but assuming a perfect capital market, Miller and Modigliani demonstrated that the WACC remained constant as a company geared up, with the increase in the cost of equity due to financial risk exactly balancing the decrease in the WACC caused by the lower before-tax cost of debt. Since in a prefect capital market the possibility of bankruptcy risk does not arise, the WACC is constant at all gearing levels and the market value of the company is also constant. Miller and Modigliani showed, therefore, that the market value of a company depends on its business risk alone, and not on its financial risk. On this view, therefore, Droxfol Co cannot reduce its WACC to a minimum.

6.
When corporate tax was admitted into the analysis of Miller and Modigliani, a different picture emerged. The interest payments on debt reduced tax liability, which meant that the WACC fell as gearing increased, due to the tax shield given to profits. On this view, Droxfol Co could reduce its WACC to a minimum by taking on as much debt as possible.


[7 – 8 marks]
7.
However, a perfect capital market is not available in the real world and at high levels of gearing the tax shield offered by interest payments is more than offset by the effects of bankruptcy risk and other costs associated with the need to service large amounts of debt. Droxfol Co should therefore be able to reduce its WACC by gearing up, although it may be difficult to determine whether it has reached a capital structure giving a minimum WACC.


[1 mark]
(c)(i)

Interest coverage ratio

Current interest coverage ratio = 7,000/ 500 = 14 times

Increased profit before interest and tax = 7,000 x 1.12 = $7.84m

Increased interest payment = (10m x 0.09) + 0.5m = $1.4m

Interest coverage ratio after one year = 7.84/ 1.4 = 5.6 times

The current interest coverage of Droxfol Co is higher than the sector average and can be regarded as quiet safe. Following the new loan note issue, however, interest coverage is less than half of the sector average, perhaps indicating that Droxfol Co may not find it easy to meet its interest payments.


[2 – 3 marks]
(c)(ii)

Financial gearing

This ratio is defined here as prior charge capital/equity share capital on a book value basis

Current financial gearing = 100 x (5,000 + 2,500)/ (5,000 + 22,500) = 27%

Ordinary dividend after one year = 0.35 x 5m x 1.04 = $1.82 million

Total preference dividend = 2,500 x 0.09 = $225,000

Income statement after one year

	
	$000
	$000

	Profit before interest and tax
	
	7,840

	Interest
	
	(1,400)

	Profit before tax
	
	6,440

	Tax
	
	(1,932)

	Profit for the period
	
	4,508

	Preference dividends
	225
	

	Ordinary dividends
	1,820
	(2,045)

	Retained earnings
	
	2,463


Financial gearing after one year = 100 x (15,000 + 2,500)/ (5,000 + 22,500 + 2,463) = 58%
The current financial gearing of Droxfol Co is 40% less (in relative terms) than the sector average and after the new loan note issue it is 29% more (in relative terms). This level of financial gearing may be a cause of concern for investors and the stock market. Continued annual growth of 12%, however, will reduce financial gearing over time.


[2 – 3 marks]
(c)(iii)

Earnings per share

Current earnings per share = 100 x (4,550 – 225)/ 5,000 = 86.5 cents

Earnings per share after one year = 100 x (4,508 – 225)/ 5,000 = 85.7 cents

Earnings per share is seen as a key accounting ratio by investors and the stock market, and the decrease will not be welcomed. However, the decrease is quiet small and future growth in earnings should quickly eliminate it.


[2 – 3 marks]
Comment:
1.
The analysis indicates that an issue of new debt has a negative effect on the company’s financial position, at least initially.
2.
There are further difficulties in considering a new issue of debt. The existing non-current assets are security for the existing 10% loan notes and may not available for securing new debt, which would then need to be secured on any new noncurrent assets purchased. These are likely to be lower in value than the new debt and so there may be insufficient security for a new loan note issue.
3.
Redemption or refinancing would also pose a problem, with Droxfol Co needing to redeem or refinance $10 million of debt after both eight years and ten years. Ten years may therefore be too short a maturity for the new debt issue.

4.
An equity issue should be considered and compared to an issue of debt. This could be in the form of a rights issue or an issue to new equity investors.


[2 – 3 marks]
ACCA Marking Scheme
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Answer 3
(a)

Calculation of cost of debt

After-tax interest payment = 9 x 0.7 = $6.30 per bond [1 mark]

	Year
	Cash flow
	$
	8% discount factor
	PV ($)

	0
	Issue price
	(100)
	1.000
	(100.00)

	1 – 10
	After-tax interest
	6.30
	6.710
	42.27

	10
	Redemption
	110
	0.463
	50.93

	
	
	
	
	(6.80)


	Year
	Cash flow
	$
	6% discount factor
	PV ($)

	0
	Issue price
	(100)
	1.000
	(100.00)

	1 – 10
	After-tax interest
	6.30
	7.360
	46.37

	10
	Redemption
	110
	0.558
	61.38

	
	
	
	
	7.75


After-tax cost of debt = 
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 [3 marks]
(b)

YGV Co does not currently have any long-term debt and so the current weighted average cost of capital (WACC) is the same as the current cost of equity, which is 12%. [1 mark]
Current market capitalisation = 10m x $4·10 = $41 million

If the company issues $4m of bonds at par with an after-tax cost of debt of 7·1%, the WACC will be [(41m x 12) + (4m x 7·1)]/45m = 11·6% [2 marks]
The effect of the bond issue is therefore to reduce the WACC from 12% to 11·6% per year.

[1 mark]
This calculation assumes that the current share price does not change as a result of the bond issue. In reality, the share price might change as a result of the change in financial risk. This calculation also assumes that the overdraft is not relevant in calculating the WACC, when in reality the size of the overdraft might make it a significant factor.

[1 mark]
Examiner’s note:

WACC calculations that include the overdraft are also acceptable.
(c)(i)
Interest coverage ratio

Current interest = $4·5m x 5% = $225,000 per year

Current interest coverage ratio = 1m/0·225 = 4·4 times [1 mark]
Interest from bond issue = $4m x 9% = $360,000 per year

Interest on remaining overdraft = $0·5m x 5% = $25,000 per year

Total interest = 360,000 + 25,000 = $385,000 per year

Revised interest coverage ratio = 1m/0·385 = 2·6 times [1 mark]
(c)(ii)

Gearing

Market capitalisation of YGV plc = 10m shares x $4·10 = $41 million

Current gearing using market values, excluding overdraft = zero

Revised gearing using market values, excluding overdraft = 100 x (4,000/41,000) = 9·8%

Current gearing using market values, including overdraft = 100 x (4,500/41,000) = 11·0%

[1 mark]
Revised gearing using market values, including overdraft = 100 x (4,500/41,000) = 11·0%

[1 mark]
Examiner’s note: full credit could have been obtained whether or not the overdraft had been included in the gearing calculations.
(d)

Interest coverage ratio

The current interest coverage ratio of 4·4 times is just over half of the sector average value of 8 times, although before the fall in profit it was 22 times. As a result of the bond issue, the interest coverage ratio would fall to 2·6 times, which is a dangerously low level of cover.

[1 – 2 marks]
Gearing

Whether the bond issue has an effect on gearing depends on whether the gearing calculation includes the overdraft. If the overdraft is excluded, gearing measured by the debt/equity ratio on a market value basis increases from zero to 9·8%. If the overdraft is included, there is no change in gearing, since the bond issue replaces an equal amount of the overdraft. Given the sector average debt/equity of 10%, there does not appear to be any concerns about gearing as a result of the bond issue.

[1 – 2 marks]
Security

It is very likely that the bond issue would need to be secured against the tangible non-current assets of YGV Co, especially in light of the recent decline in profitability. However, the bond issue is for $4 million while the tangible non-current assets of YGV Co have a value of only $3 million. It is not known whether the intangible non-current assets can be used as security, since their nature has not been disclosed.

[2 – 3 marks]
Advisability of using the bond issue to reduce the overdraft

Considering the significant decrease in the interest coverage ratio as a result of the bond issue and the lack of tangible non-current assets to offer as security, it appears that the proposed bond issue cannot be recommended and would probably be unsuccessful. YGV Co should therefore consider alternative sources of finance in order to reduce the overdraft.

[1 – 2 marks]
Alternative sources of finance

Given the recent fall in profit before interest and tax from $5 million to $1 million, any potential investor would initially seek reassurances that YGV Co would continue to be a viable business. The reason for the decline in profitability needs to be determined and the longer-term sustainability of the company needs to be confirmed before further financing is considered.
1.
If longer-term viability is assured, the need for further finance could be reduced by taking measures to reduce costs and increase income, for example through improved working capital management.
2.
If the company pays dividends, consideration could be given to reducing or passing the dividend in order to increase the flow of retained earnings in the company.
3.
Given the problems with interest coverage and security, and the lack of availability of further overdraft finance, equity finance is the first alternative choice that could be considered. While no information has been provided on recent share price changes or on the dividend policy of YGV Co, existing shareholders could be consulted about a rights issue. Using a discount to the current market price of 20% gives a rights issue price of $3·28. A 1 for 8 rights issue at this price would raise $4·1 million, increasing the interest coverage ratio to 50 (1m/0·02m) if the proceeds were used to reduce the overdraft to $400,000.
4.
If shares were offered to new shareholders, the dilution of existing ownership and control would be small, given that $4 million is only 9% of $45 million (41 + 4). New shareholders would be unlikely to invest, however, if no dividend were on offer.
5.
Sale and leaseback would not raise sufficient finance, given that tangible non-current assets are only $3 million, but this avenue could be explored in conjunction with another source of finance.

[4 – 5 marks]
6.
Other finance sources that could be considered include convertible bonds or bonds with warrants attached. Improved working capital management could also decrease the amount of finance required.

[1 – 2 marks]
ACCA Marking Scheme:
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